Vi gver pa gangetabellen

Utfordring 1

13-12 = 13-13=_ 13-14=___

12-14=__ 12-15=___ 12:16=___

15-13=_—_ 15-14=___ 14-14=___

SPiRE

Vi sver pa gangetabellen

Utfordring 2

11-12=  11.13=__ 11-14=_

16-14=__ 16-16=___ 16:15=___

17-13=_—_17-14=__ 17°15=___
SPiRE




Vi gver pa gangetabellen

Utfordring 3

10-12 = 10-13=__ 10-14=___

22-14=__ 22:15=___ 22°17=___

25-13=___25:14=__ 24-14=___

SPiRE

Vi gver pa gangetabellen

Utfordring &4

14:12=  14-13=  14-14=

18:-14=__ 18-16=___ 18:15=___

19-13=_—_19-14=__ 19-15=___
SiRE




Vi gver pa gangetabellen

Utfordring 5

10-12=  10-13=  10-14=

23-14=__ 23-15=___ 29+15=___

24-13=___24-14=___ 24-12=___

SPiRE

Vi gver pa gangetabellen

Utfordring 6

26:12=__ 26-13=___ 26-14=___

28-14=__ 28:16=___ 28+15=___

31-13=___31-14=__ 31:15=___
SiRE




